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1. Sketch the graph. Be sure to state the degree, extrema, end
behavior, y-intercept and zeros.

f) = =x*4+5x24+36 ' (x 3x3) (x4 =9
B ==t 3l)

D F =% (38 =R ) 559 )
# of extrema: % Degree: 1

Y-intercept: [ D,%(p) l e A

End behavior:

By y = —o°

X = — 0 v - — 0

™~
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Rgets: 3,75  *£2.




- 2. Sketch the graph. Be sure to state the degree, extrema, end
behavior, y-intercept and zeros.

f(x) = (x* + 5x — 14)2
[()( 1Y e —23]2

# of extrema: 3 Degree: X
S e e . |
Y-Intercept: /[O, l%) s CALD)
A / \
//
End behavior: .
X —> +c° A R
g > — o2 Y = 4ol

Roots: _x=a y=-1




|
/3. Sketch the graph. Be sure to state the degree, extrema, end

behavior, y-intercept and zeros.  x+2 [t 2*-1]
' (e+2)( x+2-1) 0 x+2 +1)

f(x) = (x+2)3_(x+2) (W(L)(w—n)(wﬂ

©+2)* — (642)

§-2 N
b
# of extrema: Degree: 5
Luding coygy =7 l
Y-Intercept: ( O, )
End behavior:
X = 00 y —» 1°°
X — — o° y _ 0
Roots: _ X = -2 ;'I,'5 | -j A *‘




4 Sketch the graph. Be sure to state the degree, extrema, end

behavi - 2
avior, y-intercept and zeros. ST S i)
fx)==x3(x—4)+12x2 -~x(x -0 Yy+2)
2t el e 2 Y O, L "2
# of extrema: % Degree: Y
Leads =7 I
ry coukh |

Y-Intercept: _ (O ;03

End behavior: l
X - To° B P ¥ f wz

fz o o
X~ = Y e N S

Y

dr |
ROOtS. >( - D ] b rl ~




4

. Sketch the graph. Be sure to state the degree, extrema, end
behavior, y-intercept and zeros.

—x (x7+ G x ——,;?7)
fx) =—x3—6x% + 27x —x (% +1 Yo -3)

# of extrema: ] Degree: =
Leadirg  coypy =7 —lI
Y-Intercept: <D:’D)

End behavior:
X = 4 oL y -

&8 — —p° Y= o

Roots: __ X =0, .5




6. Sketch the graph. Be sure to state the degree, extrema, end

behavior, y-intercept and zeros. (yv-2) [(y-.z)‘* = ;J

fxX)=((x—-23-16(x—2) OG-(x-2-Dx-2+9)
(0-2)> - 16 (0-2) (Y-—l)(){ —«(,)()c+2)
(<2)* —te(-2)

# of extrema: A Degree: "
Lu,d«uué cogpy =7 |

Y-Intercept: _(D.24) “'i“_ii‘ﬂ!‘Ti"H“A""!'L e
= | . 1 Lo g | e
1 a0 Y 8 N
End behavior: ﬁ T},% SRR R
B A T P 7 B P B R D
¥ = +o° ok S BT U EETPEL] B e
/ ‘ a 1 - = |
— — —o@ : i 0 L _'  t2 | 1 [ | | fel —}b
& ¥ 'T U R ROEE N EE AN
T R E e T Ll
AR ST
o L EEEEEER /NN EEEEEEERE)
Roots: _y =, =2 . OGS NGEET SHNNG EE BT
O P 100 A 5
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7. Sketch the graph. Be sure to state the degree, extrema, end
behavior, y-intercept and zeros.

= 2% Jh (4.
(x) = x3 + 8 (x+2)(x* —2x +1) z
f x x + )( =2 ¥ —[2, Z‘_t.f_"fl'?'-
N o % ¥ e
- 24 2‘-‘\]—3_
2 A .
# of extrema: Degree: 12003

Lending covfs => |
Y-Intercept: (0,%)

End behavior:
. e G TV e e o

X - —c” " A ot -

Roots: ~— 2 ,l*Ul3




8. Sketch the graph. Be sure to state the degree, extrema, end

behavior, y-intercept and zeros.

f(x) =-2(x*+1)+5x

# of extrema: |

Lewding coyyp => —2
Y-Intercept: \O #"9\>

=Fas X

—2v* +Sx—2
_1(2%% —Sx+2)
- (2¥% 1 Xx—2)

Degree: <

O e 3 O
o Tl 0 Y 0 G
End behavior: IR 9 58 K i 50 O T 2 1 T
X = +c° y - — =< % !»»—lr—-f L
B 0 O
o 5 s
1 0 I B
Roots: _%x=% 7 LT
0 I T 05




9. Sketch the graph. Be sure to state the degree, extrema, end
behavior, y-intercept and zeros.

f(x) = —(x? + 3x — 4)2(x — 3)
e [()( ey )(x+®]2(x—f%)

# of extrema: et Degree: Sy
Le&&hg cotelt, = ~|
Y-Intercept: _( O, 49 )

End behavior:

@ s e i e

X —> - o° y& e

. ammes

RomsE X\ w54 x=3
av

N7



10. Sketch the graph. Be sure to state the degree, extrema,
end behavior, y-intercept and zeros.

) = —(x - 4)3

# of extrema: - Degree: %
Leading Cofy =7 ~
Y-Intercept: (() La"h B
End behavior: \
r= +c2 &2t | \
X = — oo y= 4-°

Reots: <=4 () i i




